Résolution d’Equations Simples (H)

Nom: Date:

Déterminez la valeur de chaque inconnue.

w+ 99 = 144 m+6=>5

g+ —11=-18 —86 —i=—84
20—e=091 n+—32=-101
—96 —p = —28 k+ —61 = —128
j+—-3=-8 t+ 8 =48

d+ —-1=31 b+ 74 =89
—65 —z=—-51 X+ —7=—-56
26 —r =45 c+ —94 = —-80
38 —f=98 u+—-3=11
v+ 74 =75 [+ -2 =280

MathsLibres.com




Résolution d’Equations Simples (H) Réponses

Nom: Date:

Déterminez la valeur de chaque inconnue.

w+ 99 = 144 m+6=2>5

w = 45 m=—1

g+ —11=-18 —86 —1=—-84
g=-—7 i=—2

20— e =91 n+ —32=-101
—96 —p = —28 k+ —61=—-128
p = —68 k= —67

j= -5 t =40

d+ —1=31 b+ 74 =89
—65 —z=-51 X+ —7=-56
z=—14 x=—49

26 —r =45 c+ —94 = -80
38 — =98 u+ -3 =11
f=—60 u=14

v+ 74 =175 [+ -2 =80
v=1 [ = 82

MathsLibres.com




